APPENDIX 1: Answer Key

In this first appendix you will find the answers to the exercises at the end of each of
the 35 lessons in Learn Japanese With Manga Volume 1 as well as the answers to all
the exercises in the Review sections. We must point out that there are often cases
when a question has more than one right answer. Whenever we have been able to,
we have tried to provide all possible answers. But you may also have a good answer
that is not listed here. Therefore, we recommend that you use this answer key as a
guide rather than a set of unbreakable rules!

Lesson 1 Exercises, page 17

@ Japanese doesn't use an alphabet like the one we are used to. Instead, there are two
syllabaries (vowel plus consonant combinations) called hiragana and katakana. A hira-
gana character equals two Western characters when transcribed.

@ We use two syllabaries (hiragana and katakana) and a very complex system of ideo-
grams called kanji. They are usually written in the traditional style.

®

They are usually written in the traditional style.

®

We use it to write strictly Japanese words. A word is written in hiragana when it can’t
be written in kanji, the kanji is not officially recognized as a kanji of “common use,” or
when the author doesn’t remember the corresponding kanji. Hiragana is also used to
write grammatical particles and verb endings.

te: T | mu: L

i W\ | sa: X

IZ:ni| 5:ru| X:ki| Z:e

za: X

de: T | pi: Uf | da: 1=

® 0 ® ©

Sibu| Fizu| L pa| U:ji

O

Combining the characters in the i column with those in the y line (the latter written in
a smaller size). Cha: % | hyo: U & |jo: U k.

«_» .

It is pronounced like the “g” in “get”

®
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@ ® © 6666 6 06
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® A mizu: “water” | 3 otoko: “man” | = yama: “mountain” | ‘X hi: “fire’
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Lesson 2 Exercises, page 25

It is used to write foreign words which have been previously adapted to Japanese pho-
netics, non-Japanese or non-Chinese names of people or places, as well as for onomato-
poeia. It is also used to give a striking effect in certain contexts, a bit like our italics.

Approximately 11% of Japanese words are foreign expressions. Almost all of them are
written in katakana.

We would obviously use the katakana syllabary, because it is a non-Japanese name.

This answer depends on your name. If you are in doubt about certain combinations,
check Lesson 8, where this subject is more thoroughly dealt with.

To replace the letter “I;” a sound which doesn't exist in Japanese, we use all characters
in the r line of the katakana syllabary: la: < ra | le: L re, and so on.

They are vowels which are pronounced for a little longer than usual. In hiragana we
represent them by writing a hiragana u ( 9 ) after u and o.

They are consonants that have a longer and / or more abrupt sound than normal ones.
This effect is indicated by a small su (> in hiragana, v in katakana) character before
the consonant to be doubled.
ho: i~ | ku: 7 | wa: 7 | no: /
N:do| T:e| 3:yo| X:pe
yes: |3\ hai | no: W\ % die
Lesson 3 Exercises, page 33
Kanji are characters which represent sound and meaning at the same time. They were

imported from China into Japan around the fourth century A.D.

Tree: * ki | river: )1] kawa | money: & kane | woman: > onna.

>
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On’yomi is the kanji’s “Chinese reading,” the reading they had before being imported
into Japanese, but with many changes due to Japanese phonetics.

Kun’yomi is the “Japanese reading,” that is, the Japanese native pronunciation added
to the kanji imported from China.

It is usually read the on’yomi or “Chinese” way.
We usually use the kun’yomi or “Japanese” reading.

No, this is a terrible mistake. The character ~' in the word & = ' must actually be
read the on’yomi way, because it comes with other kanji. The on’yomi of the character
1 is san and the kun’yomi is yama.

There are around 45,000 or 50,000 kanji, but in everyday life we use around 3,000.

Only one stroke. The kanji for “king” is = and the kanji for “ball” is =.

Furigana are hiragana characters written in a smaller size above the kanji which are
most difficult to read. In manga aimed at children and young people, kanji usually have
their reading written next to them in furigana.

Lesson 4 Exercises, page 39
By 8 pm we already begin to use the expression Z A X A & konban wa, “good
evening.”

At 4 pm we always use Z A (Z 5 |3 konnichi wa, “good afternoon.”

F DL Hld 7 IV 7 T watashi no namae wa maruku desu L 5 L { BFE
\» U £ ¢ yoroshiku o-negai shimasu. Replace the word maruku (transcription of
“Marc”) with your own name.

Mouth: = kuchi | yen: P en | university: * 3 daigaku.

Any of the following is valid: & V) 2* ¥ 9 arigato| ¥’ 5 £ H Y Y ) TET W FE

¥ domo arigato gozaimasu | H 1) ' ¥ 9 T X\ T arigato gozaimasu | ¥ 9
Hdomo| ¥ £ H ) NY S domo arigato.

Y9 \W/= L F L T doitashimashite or \»\\ % iie.
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With the sentence Z #1113\ { &5 T ¥ » kore wa ikura desu ka?
Two options: T & X ¥ A sumimasenor Z 8 A 7% X \\ gomen nasai.
BHTY I T I\ F T omedeto gozaimasu.

Any of the following are valid: X X 9 72 5 sayonara | =+ U ., T /-BFR =
WZE L & ) soreja, mata ashita aimasho | U x>, I /=P ja, mata ashita |
Cv, %7z ja mata| £ /-1 matane| /x4 /XA baibai| 7 2D Tkio
tsukete.

Lesson 5 Exercises, page 45

Numbers are usually written in Arabic numbers in today’s Japanese society. We will
obviously find some exceptions, but generally speaking the usage of Arabic numbers is
much more widespread than that of numbers in kanji.

1 jii “ten” | > : hachi, “eight” | = : san, “three” | . : nana or shichi, “seven”
50: go jii | 800: happyaku | 2,000: ni sen.

The concept man stands for the number 10,000, which in Japanese is not interpreted as
“ten thousand,” but as “one man.” 20,000: ni man | 400,000: yon jii man.

34,622: san man yon sen roppyaku ni jit ni.

45,853: = F 3 + B 3 1 = yon man go sen happyaku go jir san.
13,681, ichi man san zen roppyaku hachi ji ichi.

Z B 7 ni hyaku man.

It corresponds to the number 40,000,000 (40 million).

Ordinal numbers are formed by adding the prefix & dai before any numbers. 4th:
¥ 7 dai yon | 25th: ¥ = 1 3 dai ni jii go.
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Review for Lessons 1-5

1.

77 71 71y 77 v footsteps

#1313 13 12 : boisterous laughter

I O I I T:sound of a plane or a spaceship flying

K K K — > explosion

77 % 4 4 4 > swords clashing

E =2 —:aflying object goes through the air at full speed.

a1 F.
1st army: 89,354 men | 3rd army: 150,321 men.

Ist I L FAZTDIRBAIAUSL T LI LA
2nd: L IICFAXATASLSURLLIZlwHIED
3rd: Lw ) TEFAXAURLIZLw ) WD

a) 2. ZAITHIZ d) 1. ¥ /=4
b) L BT LT XN e) 21T, TATY
0)3.BHTLIITINET

To a friend you would probably answer ,\ ) Z . To a stranger, the most appropriate

wouldbe ¥ 9 Ww7/= L ¥ L C.

The literal meaning is “take care of your spirit,” although it is very often used to say
goodbye, with the meaning of “take care”

You: BILIIH>ITETwET.
Storekeeper: WHsLy»WnWEd.,
You: NS 5TEN?

JAURCLALD) SA ZA

Storekeeper: i 3 4 3PTY

TRV b L) 34 ZA

You: 3 8 3PTHAN»n?

TRV CLALD ) 34 A
Storekeeper: Wwwz, 3 4 3FPTY

fan
You: INEBREVWLET (r 2hEFEX0),
Store-keeper:  H Y NY ) TXW\WF T,
You: Y WL FELT (or vinzg ).
Storekeeper: SIous.

L

You: =




6

10.

11.

12.

13.

14.
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D:  no 5 %: cha

%: ki ~: pe

(: ku Cx: jo

I sa > zu

C: ji b wa

L: shi V¥ ga

K mi EE zu

IX: pa 1a: ne

(N ). u Cw: ju to. Y be: N chu: v

Z: zo0 . na 5 %: cha oo B goo T rya: 1) %

1X: po ¥ nu ) L: ryo pe X wa b gyu: X

n: ka % wWo Xx:kya ru 5 zuw § 03D ja U %

U ori A n Hw: myu mo: &  shii L byo: U &
BANL: ongaku \WH T ichigo DL tsunami

I N sakana 5 > Dp: chanoyu TA L %: densha

U xMA: ryokan LIS L: ishibashi CWE BN kuidaore
Wbt diwake 1T WX D) A keisatsukan 5. D Y X\ futsukayoi

L 7= X shitagi \\ % U T (: ikijigoku N DIt:  kaminoke
Y'A1X9: dorobo Y 5 =% 1 5: tokyo % 51XY:  kippari

(9 U w d:kiashi XroHX: gyoza F -5 %:  maccha
DAY w D ganryn X 51T A: sapporo XX 9 Ak kyomi
L7=-1L:  shitappa X 912w ) : gyanyn WA 5 X iroppoi
nihongo: 1213 A T meitantei: & \\7z A T\ jitabata: U 7z 13 7=
shamisen: | > 4L ¥ A  nemawashi: 12 % 1 L kannushi: 7 A, ¥ L
nagoyaka: 7% ZX° ) tsuyu: DK tabako: 7-1XC
tanpopo: 1= A ITITE pakuri: X<y ebisu: 207
momiage: L b T tebukuro: T3 5 donzoko: Y A Z C
kyari: = jakkan: CYo>2A  assari Ho TV
judo: Cw I ¥d  kenkyi FTAZTWw ) bucho: 3 H 1
gunyagunya: 12 % 2% kyashi o L) yapparii X 5L
kyakka: X o0 nyoi: 2L 90 kyado: =w > Y
AVANEE kagaya HDII5:  onohara HolE:  appare
Z oI koppa XX TA: saboten X7z 0 hadaka
S5 burari ZbH- L kowappa 9 72 ) T Z: unarigoe
U & 9135 : ryoho D X x : nogyo I A mamire
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16.

17.

18.

19.

20.

T: de F
F: o v
Vi so 7
~<: ma 3
v on A
L mu o}
Vi zo v
7: a L
77: ka I: e

K: do 7: wa

Vi tsu 7: fu

A me 7: ku

)V ru R: po

AV E panda
ol)ayr: rorikon

F b gyaru
77 marason
A oranda

* ¥ /3.  kyaraban
NT 8y K. bagudaddo
F 2 —t v F: kyipiddo
Y A 32w b:  masukotto
furansu: 7 7 2 R
pasokon: /) 1
maiwaifu: <4 T4 7
remon: L eV

nido: X — R

kohii: J—Fk —
pureeyaa: T L — Y —
chachacha: + v F+ v F v
supittsu: A E Y

v a2 —<A: shamai
IRY —: misutaa
J 7N nouhau
v 7 <. bigguman

jaanarisuto: ¥ v —F ') X b

¥: cha

: ji

: pu

3: myo

: su

: ro

2: shu

re

¥ a: gyu ze: ¥

) ¥ rya u v

F % : cha ke: /7

Ea: pyo ji: ¥ or F

Y a: jo bi: £
N7 miruku
E7 /: piano
Rt janbo
F)o7: girishia
vy = shawaa
7 1) —F—: kuriinaa
W /) 7 —)b: runoaaru
< MYy 7 A: matorikkusu
7 v b —7: attomaaku
shatsu: vy
arabama: T 7 /N7
neruson: 2 v
kyaria: )7
apaato: 7 78— b
kadetaa: 7 —T 5 —
kukkii: 7y F—
biitoruzu: £ — )L X

sonata

~ . andora

keesu
. sakkaa

Answer Key 7

no: /

n:.
wa: J
yu. L
mi: 3
AV IV
A7)
5y v d:
VS
77y 7

/\‘——:E:_,——:

pyu: £ 2
ja: V¥
myo: I 3
byu: £ 2
sho: * =

washinton
zeneraru
tango
soda
gibuappu
haamonii

7w § R —)b: futtoboru
F v — 3 v 7 chaamingu
v MR b hottopotto

gurume:
igirisu:
myunhen:
napori:
gyappu:
raamen:

piramiddo:

kyasshu:
doraiyaa:

L/N—:
P I

¥yt

+=7:

7 A

4 F1) A
SaUNYy
TR

Fvrv7
T— XAy
EZ23Iv K
Fyvva
FI4v—

rebaa
mekishiko
kyanseru
naniwa
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22.

23.

24.

25.

26.
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% east % : hundred
7h:oosix 1. nine
7 : ten thousand o west
. yen 3: north
¥: south ~: two
—: one +: ten
L == 4: Uw>d
1: AR = XA
4. HA T 2L
2 UL T FA
3. Z M LB
- Wb . LA
B ZA R b= g

3% I A
8: ” 3: =

Lw) sl Lw) Iz
I ;. 1 =

ALY T AU B
3 = 1 3 47 L

Es5twilds Ve lpind
T e & 4 -

BREA IT Ol XATATSU L BRI I LA
72000 L+ = & 3814 =47 BAL AR
= T A
+ 4L LwdEwdorLw )<
El TUwIoldsb
B = O (I
Ol B e B I->8ATLw I VD
> X5 Cw
L+ = XpIHilwiT
ZBaI44 XAV T Uy )RR
+-8a=4= HAICO» S IAUD D

IAEARBO»EBLw ) IA
3,783 =441 8 4 =
12 FALAEAESU R T Ui ns

24,851 Z7r40 8 3 4 -

BBELW ) IALALALEAZID IV (NS

834,901:

T ETE4 L8 -

Answer Key

) <
9 or 1,
12 twirth
2. = 1 &
ilt@i
50: a _}
U X Il )ILR
g7 B 1
ﬁﬁtwi“%
1011 + 1 -
3
19
58
102
8,051
5
80
95
357
1,233
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T UlwrAsCEA T O T

560,205: I+ A7 8 3F
@Eﬁﬁ :Uv(ﬁAiAIAﬁﬁl\tm76<

75,034,026: 1L +3 B =7FP2r+H = A
WEFAER IR LALDI

10,940: -7 ar +
XALW I FAIAU R LALD D

300,340: =4 7=8r 4
twﬁiﬂuaﬁﬁt:Uv<§Atm7iA

108,234: 4 74 8 = i
O 12 Uwi)ldbFARRO»LLWEBEw Y T

1,280,785: a -4 74 8" 43
u%ﬁ(éﬂ&ﬂ;ku*(L:tmﬁihﬁﬁtw7%<

834,201,016: ~ f&E=42 8B = 1 74 4 A

27. 3714 a4 4 CEARBOR LT ) X I 50,729
1 273438042 LwildbFAITHAZTU»{ 185532
XALwIIC
a4 7I4 84 XAU LI b Lw ) R FA 3875214
THAIZDP L) LA
=4 -BTFIAEA B ISARTAIZO» CF AT 232005112

AV Ui

Lesson 6 Exercises, page 64
ZBE B kin’yobi, “Friday” | BEE =: getsuyobi, “Monday” | * BE E-: mokuyébi,
“Thursday”

BB - getsuyobi, “Monday” | KEE = kayobi, “Tuesday” | -XBE & suiyobi,
“Wednesday” | + B = mokuyobi, “Thursday” | Z B &= kin’yobi, “Friday” | - F& =
doyobi, “Saturday” | ®- BE & nichiyobi, “Sunday.”

® -

: “earth” | W: “fire” | *: “tree”

Because the kanji %= has two meanings: “sun” and “day.” Each of these meanings has a
different reading. In the word B BE -, the first = refers to the “sun” and the second to
the “day,” therefore the meaning of this word is “day of the sun.”

)

I B4 I E go gatsu jii go nichi.

®

“3rd of March?” These kanji are read san gatsu mikka.

Q

January: — = ichi gatsu | February: = 2 ni gatsu | March: = & san gatsu | April:
2 B shi gatsu | May: 3 = go gatsu | June: > = roku gatsu | July: . = shichi gatsu
| August: -~ = hachi gatsu | September: 1= ku gatsu | October: + = ji gatsu |
November: + — 2 ji ichi gatsu | December: + = 2 ji ni gatsu.
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®

The 6th: 7\ = muika | the 11th: 1 — P ji ichi nichi.

O

The Reiwa era began in the year 2019.

®

To 1945. In the year 1926 the reign of emperor Hirohito started, therefore 1926 was
year 1 of the Showa era.

Lesson 7 Exercises, page 70

There are many. In English, and in the other Indo-European languages, there is only
one first person pronoun (“I”). Whereas, in Japanese, there are many pronouns, and
they are used according to the speaker’s sex, age, or social position, or according to the

Q)

situation and context.

He probably would use the pronouns watashi or watakushi.
She probably would use atashi.

He probably would use boku.

He probably would use ore.

He probably would use kimi.

She probably would use anta.

® Q0 ® © 6 e e

If we are talking face to face with Mr. Takeda: “You are tall”
If we are talking with someone who is not Mr. Takeda: “Mr. Takeda is tall”

O

He: {g kare | she: & > kanojo.

®

Because these pronouns are exclusively used by men. Japanese spoken by men and
women is usually quite different (in fact, when referring to Japanese, there are the
terms “female speech” and “male speech”). Generally speaking, women usually speak
in a more polite and formal way than men in any situation.

Lesson 8 Exercises, page 76
It is used for several things: to transcribe foreign words into Japanese (both pro-per

S

and place names); to isolate words which are seen as foreign expressions in Japanese; to
write onomatopoeia; or to highlight a word when looking for a striking effect.
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The only independent consonant is n (A in hiragana, > in katakana).

We usually go to the line in question (in this case, the line for s) and we always choose
the katakana “consonant + u,” because u has a very weak pronunciation in Japanese.
Thus, in the case of s, we will choose the katakana “s + u,” thatis A su.

The syllables tu and du don’t exist (we have tsu and zu instead.) In this case, we will
add an o to “t” and “d:” That is, when transcribing “t” we will use b to, and when tran-
scribing “d” we will use F do.

They are consonants that are pronounced more abruptly than usual. They are re-pre-
sented writing a smaller tsu - character before the consonant to be doubled. Exam-
ple: 7 5 v 7 kurakku, “crack”

We use fu + a small i beside it (7 1 ).

We use te + a small i beside it (7 1 ).

7 A1) 77 > amerikan.

7 7 3 ') — famirii. There are two problems: transcribing fa (see exercise 6, in this

«_»

case we have used fu + a small @), and “1,” which we have replaced with “r.
This answer depends on your name.

Lesson 9 Exercises, page 77
The verb always goes at the end of the sentence.

T L 7z deshita.
Tlim\Wwdewanai| U % 7\ janai.
Television: 7 L & terebi | song: ) /= uta|cat: ¥2 Z neko | bird: ¥ ) tori.

Adding the hiragana 7 ka at the end of the sentence, and giving the sentence an inter-
rogative intonation when pronouncing it.

“This is not a photo.”

“That was not a bird”
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Formal: Z #1113 ¥ > 7/ T L /= kore wa manga deshita.
Informal: Z 11X ¥ > % /= - /= kore wa manga datta.

Kore: “this” | sore: “that”

are: “that over there” | dore: “which”

We would obviously use the verbs in their simple conjugation (7Z da), because it is a
very informal situation.

Lesson 10 Exercises, page 88
The Japanese archipelago is in the northern hemisphere.

Spring: & haru | summer: B natsu | fall: §% aki | winter: % fuyu.

The period from mid-June to mid-July coincides with the & 5} tsuyu or baiu, the “wet
season.” It rains almost every day during this whole month.

Wind: /& kaze | cold: 3\ samui | moon: = tsuki | star: Z hoshi.

T yuki, “snow” | J&: arashi, “storm” | B \\: atsui, “hot” | #: sakura, “cherry” (blos-
som).

Almost 7,000 islands. The four main ones are 3 "N Honshd, Z & Shikoku, 1]
Kyuasha and 3[ & 3% Hokkaido.

It’s raining today: 7~ =13 & 2’8 > T\ £ 3 kyo wa ame ga futte imasu.
It's snowing today: 7~ =13 & 28 > T\ £ ¥ kyo wa yuki ga futte imasu.

Any of the following are valid: & 7 Tokyo, 3% /% Yokohama, & Fx Osaka, % < f&
Nagoya, FL1§ Sapporo, ¥ F Kobe, ¥ & Fukuoka, 7 & Kyoto, /1] “#& Kawasaki, Ja
5 Hiroshima, X \» /= ¥ Saitama.

Hokkaid6 has an almost Siberian climate: extremely cold and heavy snowfalls in win-
ter, with cool summers. Okinawa has an almost tropical climate: generally good weath-
er all the year through, with warm temperatures.

Starting with g \\ T 9 42 atsui desu ne, “it’s hot, isn’t it?” You will most likely receive
a kind answer, paving the way for a possible conversation.

By the way, in winter, you can obtain the same result with 3\ T 9" 42 samui desu
ne, “it’s cold, isn’t it?”
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Review for Lessons 6-10
1. If, according to the footnote, 3§ ;@ 1 =F is equivalent to the year 2153, the year 3§ ;@
3 5 0 F is2153 + 349 = 2502.

B
2. W TH.

3. “Today”is 9 B 6 &, therefore, in four days time, 9 21 0 = (4 B), there will
bea =& “typhoon,” according to Yuki.

4. Hide uses X 2 to talk to Yuki, whereas Yodo uses 3  Z . They are both hierarchi-
cally superior to Yuki and that is why they use these pronouns. In Yodo’s case, since she
is of a high social standing, with a domineering personality, it's normal that she uses
the pronoun $ F Z , which indicates she considers Yuki a very inferior subordinate.
Hide, on the other hand, uses % 2, which doesn’t have such a strong connotation in
this context, still being a “pronoun used by a superior to talk to an inferior”

5. He conjugates T ¢ in its simple form, because he considers Yuki an inferior.

6. Hide’s sentence is in the past negative.
Plain pres.. 7 4 7 )L /=
Plainpast: 7 4 7 )L /25 I
Polite past: 7 4 7 )L T L 7=
Plainneg.: 7 4 7 )L TIlI QW
Plainneg. (2): 74 7))L L » X W
Politeneg: 74 7 /)L Cld H V) £ HA
Plain pastneg: 74 7 )L L » X > /=
Plain pastneg. (2): 74 7 )L TII B > /=
Polite pastneg.: 7 4 7 )L H NI HA TL /-
Polite pastneg. (2): 74 7 )L L » H ) THATL /=

7. Yukis answer. In the plain question form: 7 4 Z )L TII B> 7=» 2 (or 71
7V C % B0 > 70 ?). In the polite question form: 74 7 )L TlIH V) &
ATLEN?

8. cybot: H A K b shake: v = A4 7
cybernet: # f /N— % v b fake: 7 A7
scandal: A F ¥ > ¥ )L  Venus: E—F RorV 4 —F &
ham IN L guerrilla: 7" 1) 5
check F w7 tiramisu: 7 4 7 I A
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12.

13.

14.

15.

16.
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TANDU® I SAILH L 2> »
13th March 1 3 & 4th of April: 4724 r
HLADLw ) T IThH s> v B »
12th of June: 6 1 2® 10th of August: 8F10HR
T Aoiun WHEPDITEw ) AT
6th of May: 5) r 26th of January: 1 2 6 &
LEA2Lw I LBIlh Cw) I 220 i=b
17th of July: B 1 T7TE 1st of December: 1 1k
C 7> d > 2 122202 lw ) Io 2
20th of September: 9 0 24th of February: 2 2 -
RYARAR Liob
PRk 17 ‘? 2005 e 30 @ 1955
HWv L NN
"6 5 if“ 1872 PR 2 $ 1990
ISP Lirb
XiE 10 # 1921 W0 51 % 1976
e Ho Tj XA
B 2V FlLu: 3=
5 N o HX M)
6 TN X )L]’i——
135 é\(}‘:) @)‘fffi Z{Si‘fl#’)
‘§_ . * Ei ﬂ\ L\ ,‘/‘:l_')]\
E AR » X N L
B T A F
singular plural
b=l l.fﬂ( B
Istperson | f, , % 3 W5, bhbh
EES 3 g
2ndperson | H 7=, E, BH | BHL, bALEDL
Randy: 7T A Sylvia: viLeT
California: )7 FIN=T George: YVa—7
Chuck: Fr 7 Dionysus: 7 4 =% A
Constantinople: 2> 2% > %/ —7)L  Stephanie: X7 7 7 = —
Canyon: Fr=—A Jodie: vaT 4 —
a)2. = b)1.»Z 2 4. ¥ d1l.Hrh
byt o T d zZ )Xo )T od
b) TIIHY ITHALehY TEA
) TTN»?
d TlEZWw/CraQn

e) CIHYEITEAD?/ ULohY TEAN?
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f) =5 7=
g ClI LN/ h>i
hy TL=E=M?

17. ¢) 7 = or R B~
d 9 E
e) R
)y @ BE)u—<%
g (EE)TIEHY TEA

h) (LE) -&
i) (©° B)any day of the week, except for ZBF - or any city, except for 7 2 A 7 )L
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Lesson 11 Exercises, page 105

Japanese nouns differ from English nouns in that the former have neither gender nor
number; that is, they never change. From the noun alone, it is impossible to tell plural
from singular, nor male from female.

7= X 2 : tabako, “tobacco” | & 1) : ari, “ant” | 7= T & D: tatemono, “building” | =
D Z : kinoko, “mushroom” | A — 7 siipu, “soup.”

Fish: X 7" 7% sakana | elephant: Z 9 zo | (cooked) rice: Z I3 A gohan | noon: U
% hiru.

{ % ¥ :kuruma, “car” | = : chi, “blood” | b ¥ | : tomato, “tomato” | 2 A UfFD: en-
pitsu, “pencil” | /B : sake, “liquor” (generic meaning), “Japanese sake” (limited meaning).

Class: 7 7 A kurasu | garden: |2 4> niwa | orange: % L ¥ orenji | snake: \ Uf
hebi | night: X % yoru | tear: /& namida.

That is a magazine.
ML T W T4 Kore wa suika desu.
That was a banana.

We will always have to deduce from the context what someone is talking about. For ex-
ample, if we are shown one cat and we are told Z #113 42 Z T ¢ kore wa neko desu,
we will deduce we are being told “this is a cat” and not “these are several cats”

Counters are types of suffixes added to a number to indicate “how many” things there
are. There are several kinds of counters, chosen depending on the characteristics of the
thing we want to count, and which we will see in Lesson 25.

Lesson 12 Exercises, page 111

L 9 : nana fun, “seven minutes” | = B san ji, “three oclock” | 2 4 : yon pun, “four
minutes” | 4B ku ji, “nine oclock”

Ten minutes: + 4 juppun / jippun | eight oclock: ~* B hachi ji | two minutes: =
ni fun | five oclock: 3 BF go ji.

5

7. L B T Ima, shichi ji desu.
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“It’s six oclock” Ima, roku ji desu.
7\ T8t 3 9 3 T Ima, sanji jii go fun sugi desu.
“It’s a quarter to eight. (7:45).” Ima, hachi ji jii go fun mae desu.

1) 7, LET‘EF T ¥ Ima, ku ji han desu.
2) 7. L= 9 T Ima, ku ji san juppun desu.

7V ZBZ 4 = 4 T Ima, yo jini ji san pun desu.
This depends, of course, on the time this question is answered.

1) 5, =1 - E%“C ¥ Ima, ni ji ichi ji desu. (“It’s 21:00”)
2) ¥ BOIAETY Ima, yoru no ku ji desu. (“It’s nine oclock at night”)
The second sentence sounds more natural than the first one.

Lesson 13 Exercises, page 117
They are one of the two kinds of adjectives in the Japanese language. They are called
that because they all end in the sound > i, with no exception.

Japanese adjectives always go before the noun they modify.

g~ N akai, “red” | = \: furui, “old” | R X \h: ookii, “big” | & \: takai, “tall” or

<« . »
expensive.

Small: /s X \\ chiisai | blue: £\ aoi | dark: Bf \\ kurai | cheap: % \ yasui.

They are inflected by replacing the last \» i with 7" > 7= katta. (For example: Z
kuroi = Z 7 - 7= kurokatta| X> X L \\ yasashii=X> X L 7" > /= yasashikat-
ta).

They are inflected by replacing the last \» i with < 72 \\ kunai. (For example: Z \\
kuroi = Z { 7%\~ kurokunai | X> X L \» yasashii = > X L { %\ yasashi-

kunai).

4 - 7= shirokatta, “it was white”
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Present: 2, \\ kuroi, “black” | Past: Z 7" - 7= kurokatta, “was black” | Negative: =,

{ 7\ kurokunai, “is not black” | Past neg.: 2 { L 7 - 7= kurokunakatta, “was
not black”

2 O3 BT kono yama wa hikui desu (formal), or Z @+ 1|3 |\ kono
yama wa hikui (informal).

It is incorrect, because the negative form of the verb “to be” has been conjugated in-
stead of inflecting the -i adjective. The correct sentence would be Z O ¥ (X B ¥ 7
L < 2\ T 7 kono neko wa otonashikunai desu.

Lesson 14 Exercises, page 123
They are one of the two kinds of adjectives in the Japanese language. They are named
like that because they all end in the syllable 7 na, with no exception.

Apart from the fact that -i adjectives end with the sound \» i and -na adjectives end
with the syllable 7 na, the main difference between the two kinds of adjectives is that
-na adjectives are not inflected, whereas -i adjectives are.

The last 7 na syllable disappears. For example, X #1 7% kirei-na (“pretty”)
becomes: X #1L\\ 7= kirei da, X 1L\ /= 5 /= kirei datta, = 11\~ T3 %\ kirei
de wa nai, < 1.\~ T3 7L » D 7= kirei de wa nakatta.

¥ X 70: jobu-na, “healthy;,” “strong”
$t7 73.: shinsetsu-na, “kind”
%% % 73: suki-na, “likable”

O % 72 hima-na: “with spare time”

Dangerous fg %% kiken-na
pretty: X 11\ 70 kirei-na
famous: F1% 7L yumei-na
skillful = = 73 jozu-na

We remove the last 7% na in the adjective and we add the verb “to be” in the past tense.
Example with “clumsy” (T = 7 heta-na): The verb “to be” in the past tense is T L
7= deshita in the desu form and 7= - /= datta in the simple form. We remove 7% na
from the word T < 7 heta-na and we add the verb. Thus, desu form: T < T [ 7=

heta deshita, “was clumsy” / simple form: T < /= 5 /= heta datta, “was clumsy.”

*BTIIH Y FHA T L 7= taihen de wa arimasen deshita.
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present: 'r'[: C‘L T 7 genki desu

past: 7] ¥ C L 7z genki deshita

negative: 77 7 Tl & 1) £ & A genkide wa arimasenor 7T A L v bV €A
genki ja arimasen

past negative: 77 A\ Cld & V) L&A T L /= genki de wa arimasen deshita or
1AL ®d Y LEA TL 7z genki ja arimasen deshita.

Simple form. Present: 7 | 72 genki da | past: 7 9 /2 - 7= genki datta

negative: 7 4 C |3 72 \\ genki de wa naior 7 7 U % 72 \\ genki ja nai

past negative: 7 ¥ C I3 W 2 > /= genki de wa nakatta or 5] Q4 L » B H > /=
genki ja nakatta.

HD:EIL % = T L /= Ano michi wa anzen deshita.
& 2 N ] shizuka-na kéen.
Lesson 15 Exercises, page 129
They are suffixes we add to a proper name. They are used in practically all situations
whenever we are talking about a second or third person using their name.
5 % A -chan.
% -kun.
¥ -sama.
B# -dono.
Among family members (between brothers and sisters, and parents to children) suffix-
es are not usually used with proper names. Likewise, with open-minded young friends
with whom you are very familiar you can do without the suffix.

We will always use 3 A, -san whenever we are in doubt or “by default”

Bookshop: F F& hon’ya | cake shop: 77 — & f& keekiya | ramen restaurant: 7 — X
~ e raamen’ya | butcher’s shop: & F nikuya.

Calling him by his title would be imperative. In this case, since he is our company
director, the best thing would be calling him #5= ¥~ . Higuchi-shacho, “Company

Director Higuchi”

NO. When we refer to ourselves, we never use these suffixes with our own name.
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Review for Lessons 11-15
1. Yasuuses the suffix X A to talk to Yodo. He uses it as a sign of moderate respect. Using
another suffix would mean excessively raising or lowering Yodo’s standing.

2. Yodo uses ;é: to talk to Yasu. It’s a very formal suffix, indicating Yodo really respects
Yasu, either due to his age or his social standing. This reveals Yodo is, to some extent,
“subjugated” by Yasu. To talk about Hide, Yasu uses { A , a suffix used by a superior
when talking to an inferior, especially if he is a boy. Therefore, Yasu, believes Hide has
little influence, although he does show him some respect (otherwise, he would call
him by his name alone).

T XA U FA tw> T U
3. It takes place at half past three in the afternoon. Either + % = ll'ff—'i-‘ or 1+ I ll—’—f
IAL®ISIA I U JALtw) T34
= 1 % Yasusays he will return tomorrow at 2:45 ( Z BF 2 1 I 4 ). Analterna-
AL Lw) T35 z
tive way of saying the same time wouldbe: = B§ + T 4 F .
4. -i adjectives -na adjectives
Wz p Lf_/{/ =
e Lw a4
FAek!
XLw Thnwrg
=uwEo
A RARRAN
&
AR 2EQ
24 Eolrdd
ENR L IR
5. LIZ{WTT formal present affirmative X #L\\T ¥
HAT W simple present affirmative X 41\ /2
BRI D5 1=TT formal past affirmative TNWTLE
BT Do 1= simple past affirmative EhwEo -
LT BRNWTT formal present negative ~ XM WTIEI H ) FHA
AT LW simple present negative ~ XAV TII(L %) LW
AT (WD 57T formal past negative ENMWTlHYIEATLE
AT BN o T simple past negative ENWTE(Le)Bhor

6. When the -na adjective goes before the noun it describes, we keep , 7 ; but when it’s
placed before the verb , T ¥ ,-, we remove it.
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[EqvR ek
7. Nouns in Japanese have neither gender nor number. Yodo has offered Yasu a = %

(“jewel”), but she hasn’t specified that it was only one. However, Yasu, upon hearing
QU]
% % thinks she will give him many, but when he sees it’s only one he gets furious.

8. Counters are small auxiliary words used to tell how many” things there are, and,
thus, make up for the lack of a number indicator in nouns. & is a counter used to

“count” small and round things. More details in 1.25.

9.
»Y Wb bvb GAAD & G
I EE)
N & 5 st zun
o @ & s we sz
¥ B ¥ I X AR
10. \BE PN 8 B
XA CELZD %
AE: x5 L nE B A
2<% Th % ® _
AE : 12 ¢ EIE 7R T
A R B %
EEE: »pa ANEE L ¥z
(EH D ®
RYE SIS LANZ v TI13A
X 03 L)Z; HbH Hn
1. F W buns T gany DLEY oFWV H)Fn
12. a) B%li(z’:%@fff b) ZLIIPXIWTIEHY FTHA,
X WA B
c) WA CZ t;tjm\(-gau\)‘tfr d) ZHF DI BWTT,
) EFDOARXO(ANTT, f) LELIEEE VTS,
WE li%g_ WE - E‘_Lwa T 3A
13. 3, 7"ETH 7. 3IFY 345 TY
WZE £ g_li/\, wWE Uwd E‘_Lum Z A -
FEERFTY 7 -8+ Eéf ZTT
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18.

19.
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W b T HA Ls U 34
b r. F(FH)LEETT
W LA X 12 U tw) T 34
95, ABRoEF] TjTT
WwE (R~ Ls U JALwY T 34 WINE 35 L tw) T A
3. 77 Awr4345(7F B4 I4522)CT
W b I A UL T UwrldsSA
)5 F(IH)IET A S5 TH
wF I3 twd U 12 Lw)LAasi
fys, & A=+ 249 TH
1) This is a pig. 3) These are pigs.

2) This is a sow.

4) These are sows.

In Japanese, nouns have neither gender nor number, therefore, without a context, we
cannot state whether there is one or several, or whether it is female or male.

50

a)3. )X
b)1. U %

Q) For o T
b)%( - T=
A XNWTT

@%(Emf?

L BA

O)'%%%li\")" LLBWTT
c)%@gy *75‘07“
&%@tf%@ﬁi\fu%)i

N

e) THE @li’%l;ti (B ->=TY

O IEIL B AED N

AN

P
a) NI FVR-ILYTH
nhE iy
ba=sglrrF£TLr

rHH Y

c)”l’-l"‘/ulia&#”u\& \’CL?’.
dHDYAZ li 7)‘071'(?’

BAR

e ZD>2IXENWTIEHY FEA

P EE

DoE XA DRIEBEC RWTF

LAED
c) 3. 7
Hrr

d) 4. BE

BB
e) A X\

L T
£) 073 15+ %72
g ELVWTIEHY FHATLL

HTATLLE
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21.

23.

24,

25.

26.

27.

d) =X A@éliﬁtk\’%if [ (Thlsonelscorrect)
HALEA

e) z D% “Lfv&ml/XI\7/liﬂ<°—&<7&7J‘o7‘

v o 53 Lebad
DILDBeA OXA DAL OB DE PR
B: 05 U 7=
=W 550 rET: BBIW
B HBUL B C
! H I PV bunXn
7’ L5 N H W
Z v PFn ¥ 3 A
a) 2.B3% 1\ b) 1.5 F ER=A d) 2.3 L W
a)2.55% 13 A b)4.¢4 X 72 )3.THA
AT A ST old T4 TSR
Ay AoSA six minutes E—Efi‘: SALEA
T 2w high / expensive * Fp: (O i‘Z_
G TATA first part * 5 XTASA
’Fd?]‘g‘_: Tl wA YOllth ’)‘IE SNA DN
HHWV: BN blue S e B 2
H X & morning NS ¥
BB X kX0 big W F >
HNrv: o R red ey =13
‘@.‘R\mﬂvﬂéf young person = Cw I L: IJ—\_'}Q

Lesson 16 Exercises, page 149

23

Answer Key

five minutes
half past three
in public

half

civilization

cheap

person (formal)
now

afternoon

the Red Cross

Particles are small grammatical elements without meaning on their own, usually writ-
ten with only one hiragana character. Their role is purely grammatical. Particles show

the function in a sentence of the word they follow.
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|3 is usually pronounced ha, but when it works as a particle it is pronounced wa. "\ is
usually pronounced he but as a particle it is pronounced e. % is always pronounced o,
since this character is only used as a particle.

To indicate the topic in the sentence. That is, “the thing” we are talking about. For ex-
ample: F4 13 %= T 7 watashi wa gakusei desu. “1 (the topic we are talking about)
am a student.”

It has three usages: a) to indicate direct contact (“where,” “in which place”); b) to indi-
cate place, whenever the verb in the sentence means existence, such as “to be” and “to
live”; c) to indicate indirect object, that is, “who” or “what” is affected by the subject’s
action. For example: (usage b) /X)L 2 0 F (2 1=%> baruserona ni sumu, “To live in
Barcelona?”

To indicate possession or relationship. For example: -?L Z O K sensei no ie, “The teach-
er’s house”

To indicate direction, “where” we are going to. For example: %/ 77 )L "\ {T { sourue
iku, “To go to Seoul”

“This is your car” The particle [ wa indicates subject (“this”), and the particle @ no
indicates possession (anata no kuruma: “your car”).

T2 X AITT & & F 5 hanako-san ni hana o ageru. “Hanako” receives a flow-
er, therefore she is the indirect object (“wWhom” the flower is given to) and needs the
particle |2 ni. “Flower” is the direct object (“what” is given to Hanako), and therefore
needs the particle % o. Don’t forget the usage of the suffix ~ X A, -san with proper
names (Lesson 15).

“To go to China.” The particle ~\ e indicates direction, “where” we are going to.

72 % T % {85 puramoderu o tsukuru. “What” are we making? The answer is
“a plastic model,” therefore “plastic model” (7" 7 & 7 )L puramoderu) is the direct
object and needs the particle % o.

Lesson 17 Exercises, page 155

An end-of-sentence particle is an element (usually consisting of only one hiragana
character) which, placed at the end of the sentence indicates a certain emphasis or
certain nuance.
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No. Generally speaking, end-of-sentence particles are used exclusively in spoken Jap-
anese. Only the particle 7" ka, which indicates question, is used in formal written
Japanese.

It has two main functions: 1) to state, to give the sentence a degree of certainty, and
to sound convincing; 2) to express “insistence” or “pressure” at the end of a sentence
which expresses a command or a wish.

It is a particle used exclusively by women. It is used to state or to give the sentence a
degree of certainty. It is also used to express admiration.

To a certain degree, < zo is the masculine version of 4> wa. It is used to state and give
the sentence certainty, in very informal and vulgar contexts.

The sentence becomes stronger and more certain. We can assume for certain that the
speaker is a man and that he is talking with a friend or with someone very close to him,
in an informal or vulgar situation.

Possibility 1) Add 7 ka. X & 5 13 X F ¥ T ~NIT { » kyo wa mekishiko e iku
ka?, “Are you are going to Mexico today?” Possibility 2) (in a rather informal situation)
Add D no. X & 513 A F ¥ a~1T { O kyo wa mekishiko e iku no?

“Don’t eat ice-cream.” The speaker is most likely a man.

(ANANES ﬁ T ¢ %2 ii tenki desu ne. The particle 42 ne is used to give the sentence a
confirmative tone, the speaker is looking for an answer of the sort “yes, you're right.”
It can often be translated into English as “isn’t it?” (or its equivalent, according to the
person and number used.)

Generally speaking, it is not advisable to use end-of-sentence particles in formal spo-
ken Japanese, except for /) ka (to make questions), 42 ne, and (if carefully used), L
yo and 4> wa.

Lesson 18 Exercises, page 161
We use W\ % iru: When we talk about animate beings (people, animals, etc.) We use
» % aru: When we talk about things and inanimate beings.

»H - 7= atta.

»H V) £ & A arimasen.
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W % iru.

a) (Formal): £ 2127 +# — 7 "% V) £ ¢ asoko ni foku ga arimasu.
b) (Dictionary): < Z 127 #+ — 7 H' &% % asoko ni foku ga aru.

“There wasn’t a shark here”

a) (Formal): 513 72 2 % ¥\~ ¥ ¥ A T L 7= watashi wa kaeru ga imasendeshita.
b) (Dictionary): 513 7 2 % 7%\ 7L ) > /= watashi wa kaeru ga inakatta.

“I don’t have a plate” or “I don’t have plates.”

On formal occasions or when we don’t know our interlocutor. It would be equal to ad-
dressing our interlocutor with “Mr.,” “Mrs.,” or “Ms.” before their surname.

We would use the dictionary form (informal), of course.

Lesson 19 Exercises, page 169
Because the present tense of all verbs in this form always ends in -masu.

The dictionary form.

2 X ¥ ¥ A kakimasen.

BN % 7 tabemasu.

13 B — )L & k& £ L 7= watashi wa biiru o nomimashita.
“He didn’t play”

tk > 13 %= 1) & A kanojo wa hashirimasen.

“I buy flowers.”

Literal sense: “I understood.” Used to mean: “Fine” / “OK” / “Got it”

That the character is not speaking in Japanese, but we are offered a translation of what
he or she says.
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Lesson 20 Exercises, page 177
It is also called the “simple form” or the “casual form.” It is called the “dictionary form”
because this is the form of the verb we find in the dictionary.

Group 1: We replace -ru in the infinitive with -nai Example: ¥x 2 % oshieru =
FLZ 72\ oshienai

Group 2: We generally replace the last “u” sound in the infinitive with “a,” and we add
-nai Example: #2.35. asobu = ¥#13 asoba = %13 73 \» asobanai.

Simple form: #2.3. asobu
-masu form: ¥ ¥ ¥ asobimasu.

Simple form: fk £ 7L \» nomanai
-masu form: %k%n ¥ & A nomimasen.

Simple form: 413 + %# B - 7= watashi wa hon o katta.
-masu form: -3 F % B \\ £ L 7= watashi wa hon o kaimashita.

“She didn’t teach English”

Simple form: = F X A 32 X 2 \» Tanaka-san wa okinai.
-masu form: = T X A X2 % ¥ ¥ A Tanaka-san wa okimasen.

“I'm waiting for Maria.”

I write: 13 3 { watashi wa kaku | They write: {8 5 133 { karera wa kaku
R1x2 < karewa kaku.

The irregular verbs are § % suru, “to do” and K % kuru, “to come”” The half-
irregular verb is 1T < iku, “to go”

< 3 suru T < iku
past: L 7= shita past: {T > /= itta
negative: L 7 \\ shinai negative: IT 7 22 \\ ikanai

past negative: L 7 /" > /= shinakatta past negative: {T H 7% )" - 7= ikanakatta
R % kuru

past: 3R 7= kita

negative: 3R 7 \\ konai

past negative: R %L /" - 7= konakatta
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Review for Lessons 16-20

1. Yodo uses the formal form when she speaks to Yasu; and Yasu uses the simple form
when he speaks to Yodo. This reveals she respects him, partly because he is older, and
probably because she also considers him a very powerful and fearful enemy. On the
other hand, the use of the simple form by Yasu when he speaks to Yodo reveals he
doesn’t respect her much; in fact, he feels “superior” to her, and so he uses this form to
intimidate her.

2. The first soldier is talking about another soldier (a person,) and that is why he uses >
% (used with animate beings). The second soldier is talking about the object 7 “(bul-
lets),” and therefore he uses & % (used with objects and inanimate beings).
RS RS RES 137
3. FRNFEIVAFEIIZZIZWE, YAFELEIL WA ? The formal form is
used because the soldier’s rank is lower than Yodos, and he must show respect to his

superior.
4. =L simple past affirmative = Z 7=

3‘5‘*5 AN simple present negative = Z 0

Bt AR simple past negative 2D >1=
=L ET formal present affirmative =~ = 2 F 7

=LELE formal past affirmative =z F L7~

=L EEA formal present negative EZEEA

=L IHATLE formal past negative TZEHATLE

5. At the end of the sentence, the particle @ is used to make informal questions. It's an
informal version of 7).

6. L is used here as an emphatic marker, to give the sentence more expressive strength.
% has an identical function to that of X, but it's much more vulgar, and only used by
men in very informal situations.

7. Here, the grammatical function of the particle @ is to indicate “possession” or “re-
T IRA LLITA LroA
lationship.” In this case, ¥ ¥& ¢ 41+ the “condition” ( £+ ) belongs to a “truce”
=) EA

( £ ¥ ); in other words, “the condition(s) of the truce” , % is used to mark the di-

2w ) EA L;H)‘A o
rect object, which receives the verb’s action. Thus, in « !%:’i D&% 52 % ,what

o L) ’\‘f/v CxotA

is “conveyed” ( = Z % ) are the “conditions of the truce” ( f’l‘ o).
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“\ is the partlcle for dlrectlon, 1t indicates “to where” something goes. Therefore,

Yuki “goes” ( £} F ) “out” ( 7}~ ). ¥ is used here to literally quote somebody else’s
words. In this case, the soldier literally quotes what Yuki has said: 1’} NS E T
(will) go outside”

E:
animals "6 (L5 H U 3z L &
vegetables |L ¥ '\ |/zFHAEX |[E—22 ML |[LFT R
fruit NS (%S VA Z ERRRA LA

57T JAEN
stationery |R— )L X |3 T £ B
cutlery 7 =7 2y 7 T4 7 It -
® B v ® ® =R
stores FE S B e N (D& n
l:ﬂ\ p) 4*!)) = HbHL WX
weather Ak Fk T =
B ‘Z' BL .
Ny R = X5 E3E: 5
'C/)"J») n . I3A 7= .
= W 2 < o ﬁ“\ 4
. N r
A=l iR Xk =2
5 p D iy
B%: %kif L wl 3]
b » Wz »Z
r—FE: B % ke
b) \» % there is / are
¢\ to be
d » 5 there is / are
e)H 5 to have
f) » 5 there is / are.
b)?"F( HRAT—2 | A=~
£
) EN5% s
J: &L
d) ”—* h) 8=

e) ﬁ'ié’;
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Wi
13. D) RlEdbZZicnwiar-i=,
iy
OFI 5 L %%ﬁ:k 7z

(%% Ki?iﬁ kL
dD)FTERRANIToS -
eHDZNTH Y FEA,

ED
f) XHITERIZWE W,

AL »
Q%&fu%*uwpf%g%pko
FAEW

SERNENEEES 12 I E T

14. b) formal / both
c) colloquial / woman
d) colloquial / man
e) formal / both
f) vulgar / man

15 a)2.13/1.» b4 ~/2. ¢ 3. T/2.12/1. %

16. a) X /1c e) Iz
b) X/ fyoriz/ %
olx/iz/ % g Iz & /IC
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OLUNA 3 HIZA

1%: T5 to go out

2 & X right
AN stone, rock

: B L 2 % toteach

9: B 2 7% 9 tohold, to carry out TS XNV5  togodown, to drop
BV ICA VT A person, humanbeing  #F'R: 5 & 9 breakfast
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V& e up /AR EN center, inside
W T< togo HnrE E between, interval
NANCA: P foreigner BEI: X to think

L =5
Lw I HA: TF middleage P A: BEE during the night

Lesson 21 Exercises, page 195
Because the words used to refer to somebody else’s family are partly used to express
respect for one’s interlocutor or for the person one is talking about.

One’s own wife: Z tsuma, X [V kanai or > B- nyobo. | Somebody else’s wife: &
X A okusan. One’s own husband: X otfo, = * shujin, = 3% danna. | Somebody
else’s husband: =38 X 4, dannasan (and also Z = L goshujin, although it has not

appeared in the lesson).

In Japanese, brothers and sisters are not only distinguished by sex, as in English, but
also by their being older or younger. There are four words used to refer to one’s own
brothers and sisters: /‘T_, ani (“my elder brother”), ¥l ane (“my elder sister”), %]' ototo
(“my younger brother”), and ¥ imoto (“my younger sister”). Likewise, there are four
more words used to refer to somebody else’s brothers and sisters: Er*)]]: X A oniisan
(“elder brother”), $* X A oneesan (“elder sister”), § X A, otétosan (“younger
brother”), and *F X A imétosan (“younger sister”).

One’s own uncle: B U 0ji; Somebody else’s uncle: 3 U X A ojisan.
One’s own cousin: W\ ¥ Z itoko; somebody else’s cousin: W ¥ Z itoko. This is one of
the few words that remains the same whether it is used to refer to one’s own relative or

to somebody else’s.

It means “niece,” and we can't tell whether she is our own relative or somebody else’s,
for this word is valid for both.

(F~ D) ¥ 13 & & T § (Watashi no) chichi wa isha desu.
ZEXXADBH X AIIEE T T Kumi-san no otosan wa isha desu.
There are at least five possibilities: > chichi (formal), 3 X A otésan (neutral), >

$t chichioya (formal), > oyaji (colloquial, male), and /X 73 papa (childish), plus
the affectionate and childish forms %' 5 % A otochan and ¥ - % A tochan.
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Meaning 1: Somebody else’s elder sister
Meaning 2: One’s own elder sister
Meaning 3: Used to address a young girl whose name we don’t know

Lesson 22 Exercises, page 201
The adverb B]/Z soba ni means “beside” It is an adverb of place. 7= mada means
“still” or “yet,” and it is an adverb of time.

The last U -i is replaced with < -ku.

4 2 W sugoi = 3 Z ( sugoku, “amazingly”

N hikui = 1 { hikuku, “lowly”

F N atsui 5 { atsuku, “hotly”

The last 7 -na is replaced with |Z ni.

# 3_72 binbo-na = 4 3_1Z binbo ni, “poorly”

Tﬁ'éﬁ@ % fukuzatsu-na = ﬁ'ﬁl@ I fukuzatsu ni, “complicatedly” or “intricately”
3 73 hitsuyo-na = %3 1T hitsuyé ni, “necessarily.”

“This exam is very difficult”

a) b & - L ¥ S chotto ame ga furu.
b) > L w »% % sukoshi ame ga furu.

“To write kanji in small characters.”

a) ¥ \: “quick (in time),” “soon.”
b) 3F L : “fast (in speed)”

a) Typical Japanese liquor distilled from rice (sake).
b) Any kind of alcoholic drink.
It is most commonly used in the b) sense.
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Lesson 23 Exercises, page 207
English, of course. :-)

It is a characteristic of Japanese society: before a setback or an enemy, the natural thing
is keeping a poker face and not showing the rival one’s own feelings. Moreover the
Japanese have great respect for other people and they would never insult anybody in
public.

E]\ )E:%;: bakamono | ,%. )?’z? F bakayaro | }?f )?al: ¥ % baka ni suru | ,F]« )?:75: =
9 bakaoiu| & )%?]\ )?z L \\ bakabakashii.

“Rubbish,” junk,” “scum.”

In Osaka, 7 75 aho is a rather non-offensive, even friendly word, whereas 7~ 77 baka
is extremely offensive. In Tokyo we find exactly the opposite: 7~ 77 baka is friendly
and 7 7 aho is offensive.

5 { L & 9 chikusho.

They are usually written in katakana, because katakana causes a much more shocking
visual effect than kanji or hiragana. And a swearword should shock the reader.

9 4 X W | urusai!

It is the word 7 A busu, which literally means “ugly;” but which is actually a very
insulting word for a woman.

Damn company director: 7 */ 7= kuso-shaché or 7\ 77 7=+ baka-shaché.
Fucking bicycle: 7 %/ B] && kuso-jitensha or /X 77 B) &% baka-jitensha.

Lesson 24 Exercises, page 215

The -te form is basic to form many grammatical expressions, the gerund and the -te +
kudasai request form among them. The -te form is essential in Japanese and it should
be completely mastered.

A 3% tobu = & A, T tonde | FLé miru = FL'C mite | B2 5 suwaru = B 5 T
suwatte.
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$ 5 neru= T\ 5 neteiru| T3, korobu = EA T\ 5 koronde iru | X
9 warau = % > T\ % waratte iru.

Past continuous simple: T \\ 7= nete ita (“was sleeping”) | # A, T\ /= koronde
ita (“was falling”) | ® > T\ /= waratte ita (“was laughing”).

Past continuous formal: $=C \» £ L /= nete imashita (“was sleeping”) | EA T
\\ ¥ L 7= koronde imashita (“was falling”) | X - T\ £ L /= waratte imashita
(“was laughing”).

Simple negative: $C \\ 7\ nete inai (“I am not sleeping”) | EA T W74 W
koronde inai (‘I am not falling”) | ¥ - T\ 72 \\ waratte inai (“I am not laugh-
ing”).

Formal negative: $=C \\ ¥ & A neteimasen (“ am not sleeping”) | & A T\ I &
A koronde imasen (“I am not falling”) | € - T\ ¥ & A waratte imasen (“ am
not laughing”).

R 5 1I#FA T\ 5 karera wa asonde iru.
With the -te form + kudasai.
) A T % BT L 7 X\ ringo o tabete kudasai.

Simple present: ’%é 4 % hassei suru (“occur”’) | Formal present: é’fé LET
hassei shimasu (“occur”). // Simple past: )% 2 | 7= hassei shita (“occurred” / “had
ocurred’, etc.) | Formal past: ’%f‘:‘ L ¥ L 7= hassei shimashita (“occurred” / “had
ocurred,” etc.) // Simple negative: ¥ = L & \\ hassei shinai (“doesn’t occur”) | For-
mal negative: § = L % \\ hassei shimasen (“doesn’t occur”) // Simple past negative:
% Z L & » - 7= hassei shinakatta (“didn’t occur” / “had not ocurred,” etc.) | For-
mal past negative: § = L & ¥ A C L /= hassei shimasen deshita (“didn’t occur” /
“had not ocurred,” etc.).

The \ i in the verb W\ % iru is removed. Example: &\ T\ % ugoite iru (“to be
moving”) = &\ T % wugoiteru |  \» T\ /= kaite ita (“was writing”) = & W\ T
7= kaiteta.

Very often, the word < 72 I \\ kudasai is removed to suggest a much more familiar
and informal sense. Example: & \\ T { 72 X \\ kaite kudasai (“write, please”) =
2 W T kaite (“write!”).
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Lesson 25 Exercises, page 223
A counter is a suffix placed after a numeral. We use it to indicate number, to say “how
many” things there are.

It depends on the physical characteristics of the object we want to count. Depending
on the shape, the material it is made from, the kind of object it is, we will choose one
counter or another.

1: — ¥ ichimai|2: = 1 nimai|3: = ¥ sanmai|4: = 1 yonmai|5: 3 1 gomai|6:
¥ rokumai|7:, ¥ nanamai|8: > ¥1 hachimai|9: 4_#1 kyiimai|10: 1 # jumai.
We use it to count flat things, such as pieces of paper, blankets, etc.

1: — Fippon|2: = F nihon|3: = F sanbon | 4: > F yon hon|5: = % go hon
| 6: 75 F roppon | 7: 1. F nana hon |8: ©~ F happon |9: 1_F kya hon|10: 1 F
juppon. We use this counter to count long, slender things, such as trees, pens, fingers,
etc. We also use it with telephone calls.

Books: M satsu | oranges: & ko.

“There are six cars on the road”

% 3 7 72 X\ neko o go hiki kudasai.

One person: —  hitori | two people: = \ futari | three people: = * san nin. The
first two are irregular, from san nin on they are all regular, with the exception of “four

people,” which is yo nin and not yon nin.

We use it to count cups (coffee, tea, etc.), glasses (milk, water, whisky, wine, etc.), or
spoonfuls.

A tatami mat is about 6 feet (1.8 m) long and 3 feet (0.9 m) wide.

Review for Lessons 21-25

1.

Because Yasu had promised he would only dismantle the cannons outside the Saka

base, and he actually had the inside ones dismantled as well, leaving the base defense-
B L

less.Insults: X7 E D, 5 Ly ), " AEs),7VFYand( Z.

B U v & A literally means “grandfather;” but is also used to refer to unknown old

men, or, as in this chapter, simply to refer to elder men.
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10.

11.

v
10 outside and 6 inside. The counter = , is used, because they are “machines” Trees

b
are counted with 3 (because they are long and thin), and pigeons with ¥ (because

they are considered animals which can fly or hop).

Lt
33 ¢ (weakly) derived from 33 W (weak) é/)‘ (quietly), derived from & »* 72
(quiet); and ; /)k ¢ (deeply), derived from /JM\ (deep).

MAZ AT

DXV YL | BB ﬁﬁqz&m ﬁ(
% 9 :already| 721 : only | » L :alittle| ¥ T% :very.

» «

> % T :simple form X> & % , -masu form X>% ¥ 7, meaning “to stop,” “to cease”

AR AV

(doing somethlng) | LT,%do”| ¥ 2 T: % Z2 %, o think” |
IS
:'}L'C::'H’,..,Li?’ “to take out”

Ed
EITTWERA

b
*FL'CL\CU?‘O 7=
To % To%y To %k

Bi=7 5 :-masuformF= L 7 ,-teformPi= L T, meaning “dismantle”
Pzl PLEL P ZL
MERT B2 :809FLET,80F LT, “topromise”
"o
He uses the word 3 & X A . It's more natural for a son to address his mother with

b
B& 3 A . Using the words meant for somebody else’s family to refer to members of

your own family is quite common if the family member addressed is older than you.

TAED B2 > F lll IO A s

T %A % # ERE | BLWIA|IFH

Ly LA JAE N 5T . T MH LASA

FE K ¥ | T4 RT|FHK #7

(%% LTAL® TAL®

& RN 3y WA | H AT | BEE (ER Ay a—%

&L

ZAUD |R=ILX2 |3T NFHF IR

az

B H =z A A RO X3
3 [I3=2 M

( F T4 F* v 5 5 ol = *
X5 L

i 2 Mk

T L L3 R—=L|F LI |nwbZT | T4 I A
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12. b)Lﬂ’Sr(L’D) W (AD)
[EESF AN WA DN TREA Ao
;BE-‘(;I)){\-;JBE“(L\(’)) g) F (=)
ANE RS & .
H= L (=o) h) - E‘(*’D)
LAY Lo
e)ZSE(Z D)

13. Bhrd XA T RUAY )b v A
Bo: FARIA B3 A FixHsr
JARASRE B IA BT A: B
LTHIA TTD HIT: BIZWXA
H 1: BRAZIA x99 oF
Z S BLWb»A z1X: BIEXHIA

wEIH 2% $<

14. b) % <4 c) (correct) dFH XA e) (correct).

0 Al Lo

15. a)4. PE R b) 2. 'l_ o)l. =% ¢ d)3. x-5¢% e) 4. - =z

b5 b5 Th Th )

16. D) 5T to wash B % B> T to sit

"5 R.T | tosee/look -, o T to buy
el el 7= =
85 BT to sleep Bxls | BELHT to hug
g( %’jk\f to hurry T ¢ iIT-T to go
é}j— é LT to lend 2’%5 %)’];9 T to make
bz bz
3 | AT | toplay b3 d*o > T to be
U%L 3 U%L AT to call g}% i B A, T to read
;,)i"z N3 ;B‘%'Jf’tf to get tired 7‘%’:5 *T to come
T3 LT to do l;"é{) %O’C to run
L L
wRi RAT to drink bR AT to die
BL BL b5 »5
25 | %z2T to teach # < H N T to walk
%5 ;1_‘7’1’) T | tosing \L‘lé %LU’) T to know
B 5
17. b) > Tt n HFLTHEEA
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5
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tey ¥
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26. 1313 2 mother L5056 7 strength
O A Tn W wide Z AR T N strong
X ) LD & E holiday =X A %Y perhaps
IZA X L% popular 235 AFH  feeling

Lesson 26 Exercises, page 241

Face: JE kao | hand: < fte.

Face: = kuchi, “mouth;” B mimi, “ear;” B me, “eye;” § hana, “nose;” = shita,
“tongue;” UMY hige, “beard;” 3% ha, “tooth”

Hand: *k yubi, “finger;” = O ¥ tenohira, “palm;” /[ tsume, “nail”

S

Brain: SEF¥ zuno | lungs: Fi & haizo | stomach: % i.

2O Bl X (72, T ) kimi no me wa kirei (da/desu).
“His arms are strong.”

PR 0V 5\ T 7 oyayubi ga itai desu.

“My shoulder hurts” / “My shoulders hurt”

“That person is loudmouthed / proud”

® Q0 @ © 6 e

7% /1 9 ashi o arau (literally “to wash one’s feet”). This expression is only used by
people involved in murky affairs to indicate they want to get out of them.

O,

The words = kokoro and <" F& shinzé. While shinzo has a purely physical meaning
(it is a word that refers to the organ which pumps the blood in our body, that is, the
heart), kokoro has a rather mystic and immaterial meaning;: it refers to the soul, the
mind, what makes us human...

®

o-shiri: /7 *V ketsu | mune: % ) 7N\ 1 oppai.

Lesson 27 Exercises, page 247
Z A X A 1Z konban wa (“good evening”).

B X T » L X W o-yasumi nasai (“good night”). Don’t mix it up with konban wal!

® ©® 6

Goodbye: T T % ¥ ¥ itte kimasu | Mother’s answer: {T> T5 > L ® \\ itte
rasshai.
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W5 o L ® W E H irasshaimase (“welcome,” “can I help you?”) It is very often said
at the top of their voices!

BHTY I T I WFE T omedeto gozaimasu (“congratulations”) or simply 5 &
T ¥ 9 omedeto.

DFLBWHRTTIITNY., ¥ Z.. tsumaranai mono desu keredo, dozo...,
“It's something insignificant, but please take it.”

T 4 £ ¥ A sumimasen is an expression which means “sorry” or “excuse me,” but
sometimes it is used with a meaning closer to “thank you” rather than “sorry”

22-year-old man to his friends: B 7' Jg - 7= hara ga hetta | To his boss: B B¢ 7* 4
\\ 7= o0-naka ga suita | 5-year-old child: BB 7* X Z X Z o-naka ga peko peko.

BT FLTHEHTYITINIET, sFELALBENLET

Akemashite omedeto gozaimasu. Kotoshi mo yoroshiku o-negai shimasu.

a) B % 1L o-tsukare-sama | b) T £ 3 1% gokuro-sama. They both mean “thanks

for your trouble,” “You've done a good job.” The latter is mainly used by superiors down
towards their subordinates.

Lesson 28 Exercises, page 255

7% % naruhas no exact translation in English, although its usage is very similar to that
of “become.” Present: % % naru, past: %L - /= natta, negative: 7L 5 72 \\ naranai,
past negative: 2% 5 L )" - /= naranakatta.

-i adjectives: We replace the last \» i with { ku and add % % naru.
-na adjectives: We replace the last 7 na with | ni and add 7% % naru.

Nouns: we add |2 7% % ni naru.

X X L { % % yasashiku naru (“to become easy”), 12412 7 % benri ni naru (“to
become convenient”), ¥ |2 7 % gakusei ni naru (“to become a student”).

“He goes to see a movie.”

tg 13130 % 2 X12R % kare wa shosetsu o kaki ni kuru.
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H T % ageru: “to give” £ 5 5 morau: “to receive” Both ageru and kureru mean
“to give,” but kureru is used when the receiver is “me” or “someone close to me” We
can't use ageru if the person receiving is “me;” in that case we must use kureru.

“Frank gave Michiko a book”

AIARAIAART I IAICRELE 5 D) Sumisu-san wa Buraun-san ni
shorui o morau.

“I teach Japanese to the pupils (doing them a favor)”

4 7L % R A T < N gyanyi o nonde kure.

Lesson 29 Exercises, page 261

Gitaigo are onomatopoeia of an almost always adverbial kind, which express a phys-
ical condition or a state of mind. You can use any of those in the table on page 257 of
the book as an example.

Giongo are onomatopoeia of an almost always adverbial kind, which imitate sounds
(in an almost identical sense to our “onomatopoeia”). You can use any of those in the
table on page 256 of the book as an example.

L < U < shikushiku: “(to weep) silently”
X 5 ¥ hotto: “to feel relieved” | ¢ % < % guruguru: “(to go) round and round”
X < IX { pakupaku: “(to eat) with relish”.

To laugh boisterously: 1T 5 I 5 geragera | To be exhausted: { 7= { 7= kutakuta |
To glitter, dazzling: U° 7> U8 )™ pikapika or = & X 5 kirakira.

“He speaks Japanese fluently”
“Pikachu’s flash is dazzling”

No, they are words both adults and children know and frequently use, both in spoken
and written Japanese. Knowing at least the most basic ones is essential.

U5 { V) T 3 bikkuri suru.




Appendix 1 Answer Key 43

®

® ® ©

®

Q)
®

Giongo and gitaigo are some of the few words in Japanese that aren’t written in a set
syllabary. Depending on the author, they are written either in hiragana or in katakana
(almost no gitaigo or giongo is written in kanji). Where manga is concerned, we often
find them written in katakana, but there can be exceptions.

Dog: > A 4> A wanwan | Frog: I} 5 1} % kerokero.

Lesson 30 Exercises, page 267
No. In real life using the imperative is considered bad manners and very rude. The -te
form + kudasai (Lesson.24) is much more frequently used.

There is the “straightforward” imperative, the “gentle” imperative (-nasai), the “ar-
rogant” -tamae imperative, and the -te kure form. The straightforward imperative is
rough, and used only by men. The -nasai imperative is mainly used by women when
they want to give a command, or it is also used by an adult with a child, or by a superior
with a subordinate (although this last case is not that common). The -tamae impera-
tive is quite uncommon: It is used by a superior when talking to a subordinate. And,
finally, the -te kure form is quite vulgar, and extremely straightforward command.
The negative imperative is obtained in such a simple way as placing 7L na after a verb
in the dictionary form.

PLé miru = ,EL% miro | B kiku = T} kike | R % noru= R 11 nore | ,}t
5 arau > /f[‘?\_ arae.

B % miru = § 70 X \\ minasai | < kiku = F'% 70 X\ kikinasai | & %
noru = & 1) 7% X \\ norinasai | /}t ) arau= jfEk\ 72 X\ arainasai.

PLé miru = %T { # mite kure | F'{ kiku = BT { # kiite kure | & %
noru= A - T { 1 notte kure | g7 arau= jr > T < i aratte kure.

Because it is too rough and vulgar. A woman uses the -nasai form to give commands,
in situations where she is very close to the person she is talking to.

“Read the Japanese language course.”
¥ &% B 2 shinbun o kae.

W9 IZ B ) 1 X\ isu ni suwarinasai.
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The -tamae form is used when the speaker is or feels superior to his or her interlocutor.
Is it a seldom used form.

Review for Lessons 26-30
1. 7= 72\ % is the set phrase used by someone when entering his or her own house.
Hide enters the Saka base (i.e., his own base); therefore, it's normal for him to use it.

»z

The soldier answers 1) & X v, the greeting uttered by the person who is al-
ready inside to the person coming from outside.

Lo E
2. If Hide went into Yasu’s house he would say & 7 & L £ ¥ (in fact, that is exactly
what Yuki does a few panels later). Yasu should answeér W\ 55 5 [\ .

b= % Wiz &0 W

3. She has a headache ( SEA U T § ). “My back hurts:” 4 2V |\ T ¥
AN Wiz Wiz
“I have an earache:” B 285\ T § “My knee hurts:” O X W T ¢

4.  ( 7z { 7z:to be exhausted (gitaigo) | \» 5 \\ 5 : to be nervous, annoyed (gitaigo) |
L - 2" I) : to brace oneself up, to be stouthearted (gitaigo).

77\(.\‘ A

5. 2| tL E) means to become sad, to be saddened | & #1](Z 7L % : to become con-
venient | Z ¢ 7% % : to deepen, to become deep | ') — ¥ —Z 7L % : to become a
leader.

37

6. They add the nuance of “performing an action which does or receives a favor” | &5
12T 5 T dHIF T L 72 3 W Please, go to speak to her (and, thus, do her a favor).
| 7T> T {# 3% ? : Would you mind going (and, thus, doing me and/or someone
close to me a favor)?

7. WL cwmRe w2 A7 XN

v

EEBEIN,EEUAIO
w5

B HE,HLATO

Fo BT, ELL L

BIX

RAL:RAL,EZLI WV

» 5

iy
8. w27NZ k\*ij‘means ‘to go to call (somebody)” | 7= F Y Iz W< | FLIZW
(lHFBIC L\<|i=iiz W<




Appendix 1 Answer Key 45

9. FEATU :“to be intelligent” . | B{17* Ly L): “to be very good at something”

1z I 137 ) Hr-F
10. _ Uty\ Eal H 2 B Egs) ﬁ
to sit g | Lr
D IO 2D E | F T | T )%E
7)1 RN i
B H ¥ i) B, NF
Torso
&L .
. 9 T oC )3 [0 i
Limbs
BYw U (XN 2% wr \’é (o3 (/NG RO T [0 By
o] 315 15 N AZLIE [P | FOF |/

Y

Note: < & and % can both g under “hand” and “limbs.” Any of the two options is

correct. Likewise, , @ ¥ and E can both go under “head” and “torso”

11. 1:e 2:i 3b 4g 5k 6§ 7:a 8&d 9%c 10:h 1I:f

12. 2. IF 511 5 Ol.¥-5 %1

b)4. ¥ X ¥ % d)1.RZTRZ3UFCIEL
13 2 k5 LB LET h: BIEH X 4

i

b: LD £ EENMZYTI N

c LK j:éé

dBr k: BB

Iy % z X

- I 2 &

e‘% (T

f: 72 A% m: ¥

g;_E Il:’\Ol:)"\c'I:)
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14.

15.

16.

17.

Appendix 1

Answer Key

Tt ITEQIW | ToTLK M TR to go
EXe) Ih b Ih
= N BEYLZIWN | E5TLM [E1R-IAN to go around
£ &£ iy
3t & AL I | AT ELEIRAN to read
N » » uN
s FLEIWN | BLT BTQ to lend
Ih Ih Ih b
AL AULZIn | AsT(h )2 AN to touch
Hb Hb Hb Hb
g % OWEBI W | FoT(RN RS to wash
XA ALV | ;L2 TN EE AN to teach
iy X £ £
w2 WETRIE XN | AT w373 to call
b e npn b
2z WX | 25T ER AN to aim (at)
L L L L
ke AT IV | AT IR:ARAN to die
liE (;EL[: f{“L liJ_L
X EYLIWV | EoTLMN 5 to run
Wz Wz Wz Wz
m\tf ) SR %\L\—C\‘ < #/L g\ <7<I tOhurrY
b) gives: 7 /7 3 receives: F-
c) gives: 3 receives: B& X 4
d) gives: 7~ receives: 7 3
PrHY
e) gives: =1 F receives: & & I
NN
f) gives: = receives:
vEE bl
g) gives: © > receives: ;'
hr S
b) #ZU €)%+ = d) X< e) LA T
?)B - (%__7‘\"’
235 f3.7 <
b) 1. B\ g 1. R
c)4. T h) 2. 7
d)3. < NnElr= i)4-/EL57ZC

%
e) 3. KL X
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19. & Cic B: »H
T (b B NA
o 225 = A
o » L B H b
F: ( % % = T
B: Fx J&: K
200 a) L. R LW b)2. F = c) 3. F & d) 3. 7 &.
21. a)3. V| 4. 8725 .EAHEV
b4 5w ) T T 2.HA LA
0l.29H9Z 78N 2.WX T3,
22. a) 5 B2 AU f’)/fi’i i&%(/%Lﬁ‘of::f:@Lﬁ‘of:

a)
)""”f(%/j’t ik\'CA//'fL xX/F: (5% F
c)T‘,’-%’—?]%i.LLJ’)b\o~7/4"3&.75@579*(&&\/5?5:“1(
DTy /RS /B EDHRDL /BT T,

23. < H: 7 mouth A B ear
» L: & foot, leg CA/'H‘L\ L= life
7=®D L L pleasant 21X A T B 3 2F Japanese language
I Z < : & & native country S A W Y BBcivilization.

Lesson 31 Exercises, page 289
;éf AW AR

/éif: > T=

br=L T D bl 3 D

FULB 2 RA 720 [ FAILIB VR & 720 (Add T at the end of the sentence

to make a formal sentence.)

@@@@

Last year I wanted to go to Taiwan.
e

® mizizLcnnTT

(6) Iwanther to bring tea.

@ (It looks like) Mr. Kobayashi doesn’t want to go on a business trip.
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Z-:% W
Use the constructions ¥ 2 9 or ¥ & ) or with another kind of approach, the
L

constructions 4 7=\, X 9 7= or 5 L \\ (Lesson 43).

EFEEFIDOBLYTT
Sometimes, 7% at the end of a sentence turns it into a sentence in the negative imperative.

Lesson 32 Exercises, page 299

»A

B L
Y)IEAB | Brhns | Rif5 | Tx3 | $2605%

o

If you can’t find out (after looking up the Vocabulary index, dictionaries, etc.), you
can always turn to the practlcal expression “sentence + Z Z M T % % Thus: ’PL %
¥ TZ% and ‘775 ¥ 2T X % . By the way, Et% belongs to group 1,
therefore, we would have EL 5 #’L % in the potential form; and '77 % belongs to
group 2, so its potential form is ‘77 nas .

7 713 A~ % % A (formal form) | % 13 4~ %\ (colloquial form). Usually
H 72 7= is not used with the verb conjugated in its simple form and %i is not used
with the verb in its formal version. Another solution is: & 7% 7= I 4% ST ENT
XFUL o BEAES T LATER L.

Can Sonia speak English?

b=l N>l HrlL

Any of these sentences are valid: F- 3 F A~ ?:fﬁ\ NI LW | F U

529 bl 7o brL

i&«fﬂ)\& (TSR W | 4 ii&f\?‘ﬂb‘& FidwiFgun | F

ol

(3 C“}—FI‘S&’\?‘?V)‘ N IX /= 72 . However, thls being an informal sentence, it
br=l 1Z<

would be better to replace F with # (masc.), fﬁ (masc.), » 7z L (fem.), or any

other first person pronoun of the colloquial kind. Go to Lesson 7 for more

information.

She has to eat spaghetti.
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@

@ ® © 6 66 6

If we interpret the sentence as Is he able to read the newspaper? you can use any of
LASA LASA

these two: fﬁli%??é’mdf)i?b“? or fﬁ:lii’ﬁ?ﬂ’i’?f[‘{‘ YN TxExFET

mn e However, if we 1nterpret it as Is he allowed to read the newspaper?, then we
LASA LASA

mustusefﬁliiﬁ?’i’?ﬂ:&f‘ﬁk\k\f?i)‘ , fﬁliiﬁ?’i’iﬁ&'@%i%
LASA

LWTTHh? andfﬁliiﬁ?’&%ﬁ&f%?ﬁ\ik\iﬁ&ﬁ\

It can be any of these sentences ﬁi#%&ﬁﬁk?lik\ﬁﬁh\;fﬁliiﬁé%ﬁ%

LASA

jﬂfli&bﬁk\or fﬁ‘i%ﬁ???f[}ﬂfliff&)?’f.

Don’t write on the blackboard! % % is the contraction of Tl in ~ TIlX /7~ &.

SLEA
IHhETZ N EL Z % . 'The verb EL Z % (can see) has been chosen because
we can see the mountain in a passive way, without intentionally trying to. That is, we
see it “because it’s there” not because “we want to see it” In this case, using the

H
potential form of the verb ,EL % (to see) would be very strange.

Lesson 33 Exercises, page 309

LK Lyolf> [N

j’ﬁ:’xﬂ.‘:"ﬁ%l ML | BT
Aisle | airport | seat belt | arrival

-y i&
AXAVENEHETL?| AR, VR ﬁ\f%i?ﬁ\

I don’t understand Japanese.

Anyofthese: KA >V | TV KR I | AR L | 7T A |A4AF )T |HIL MG
VIAEY ROy T

2]
THEIEAN, BLTCEZTOL

THIEA, ﬂ'l/‘/“/““/“:t——XODmaiifJ‘#’)Ji’<t W TARIEA,
AL TV a—-RA0B»bY BBV LET
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PATS
If ’'m coming as a tourist, I answer ?LV'I: T 4 ;ifon business £ ¥ A T ;ifto

Ul

study B T .

Tourism | bank | euro | visa | nationality.

L L
o — ML B %,ﬁ{&’)'( ¢ 72 X \» or much more formal & — F X)L b %Zbﬁ‘ﬁar
HIZE 5T EIN

Lesson 34 Exercises, page 319
Translation: His wife is beautiful. Question: & 7% 7= ® ﬁ\ IAFTENRNTTN?

PNEIRTIN? | dNEINYTT

How much is that over there? | That is ten dollars.

WA Z

BIF (L (>D)UATERIDEUTTH?

Why don’t you want to watch television? | Because it isn’t interesting.

Lidbn

Rk, 2L =TI :‘?<OBU'GT

1

—

B T W
¥EYE I |3:F%7 LTI ESLD

i

AW A

H5
RS THEE L LD
I think I'm going to buy a new computer.
I have decided to study History in a year’s time.

Lesson 35 Exercises, page 330

A
Infinitive: lio"C | B> T |ﬂk\f | % Z T /Negative: 9 [ 7L\ T |
»NA B

aaz:bm\m;m\m\m ¥ ZHWT
Vi AN )
COHBEBOLS TRRSHET

The kitchen window is open.

1= IAIE 7=
Formal: EXTA 5, HH L F L & ) |Informal: BERTH 5, HH L L
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® rm dying to (see how it is / try to) go to Mongolia | I really feel like (seeing how it is /
trying to) going to Mongolia

©® Literal: We are going to read this book through, in case it is necessary later on. Not
literal: We are going to completely read this book through.

@ Formal 7L E#BX B VT E X W Colloquial: 7 L E # JAIX L W T

The 1st sentence means I went to Tokyo (and I have already come back). The 2nd one
means [ went to Tokyo (it might be useful later on / just in case), and the 3rd one means
I went to Tokyo (something I regret doing / I don't like at all / I consider a mistake).

b=l YIRS 79\
® F LAY EEN AL TEONTT

e )

i “EKTEh ot (TH)

Review for Lessons 31-35 Vst
1. Nuriadeparts from ¥ K ') »» F Madrid ( 2 X £ > Spain), and goesto % . To-

AV IR

kyo ( B % Japan). In the first scene the plane is flying over &5 South Korea.

2. Ifits 3:30 pm (& &) in the first scene, and the flight assistant says they will be arriving
- %‘:%jl}k\g (an hour later), the plane will land at 4:30 pm.

LA

3. Nuria is there on business ( £ 2/ 3 X ), and she is a journalist for a newspaper ( %
SA % Le

TR

4. Her baggage is in Sdo Paulo ( 4 > /X7 & ) due to a mistake ( FES&E LN ).

5. Nuria wants to call Spain, but she can’t because it’s not possible with that phone.

6. Colloquial Japanese is usually shorter than formal Japanese, and uses different expres-
sions. Generally, colloquial Japanese uses the simple form of verbs and adjectives, while
formal language uses the -masu form for verbs. From this different use of the Japanese
language, we can deduce Nuria feels comfortable with Mina straight away; therefore,
she has an open and friendly nature, and doesn’t care what other people think. On the
other hand, Mina keeps using formal Japanese, because she is shyer and more reserved,
she finds it hard to open up to other people, and she probably considers her relation-
ship with Nuria strictly work-related.
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10.

11.

12.

13.

14.

Appendix 1 Answer Key

£
) RBPEFSTI LI D2
Ly LA

D) 2ITHEZYSTUELBLEL W, or X5 TIEWIF R Wor ¥ 5 TIX7E

% 72 or even, more colloquial, ¥ 5 % % 72 &

12> B< <
o) Bk R ail¥ 5 T L F - /= or more colloquial, 3 5 % % 5 /=
[FARYSN

d) SOFRF TIIARA AT SN0, or 2T A7E W (without 5 ).

2) B 25 Be v T s £ 1 A

DAY LFFANITLY FHArFEFLTELRY FEAr FE T
nITWiF 24

TA b

@ﬁrw'iwfﬁb% =LFEL L.

It has the nuance of “having done something one regrets” or “having made a mistake”
All in all, it sounds as though the person talking is almost apologizing.

on B4 on >
BENLNG FTS,%N3 .25, thband il 3.

2N EoXS >
ﬁhﬁVn%%E“,%UE“,\“t“,ZUE“md%§k“-

A% )7 Y ANRA e 7 A1
T & hy T — 77 R 74 v
T AN A NY 7y R VA = ¢« %)L
72 ) N A—ANZ2UT7: a7 7
a7 a4y 7 A F O TF—7
A F)R: T 4—e T4 L KA. V-t -
a) ¥ Z SR AV IRAN e) ¥ LT g W (D
b) W{ 5 d) \wo f) =t

Ry LroIsHn [0 R A
a) 2> c) R R e) A ?‘?7]% g 2 i) =

(X UA/A/ 28
b) & = f) & X h) 5K AR
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15. @2#5 b4 % Z dz%? d1w(5/3 1—0 @3fﬂ%i
[ 3e) IKEE
16. 4. Bz b T -0wTT 2. FHIETA X)) ATT
NAELD
b)2. = ik e) L gkl =\

VrIy Nz

3. EL -

[N D
17. D) ¥ 2 CHITHRIZRY T TH?
ZICITA
ADVWWZ, 77 =AM 7 FADIEFIIZCLVTT or V2,7 7 —
2 ITA

ANTTADIEFIIFEVWTT
WO REFRIZKREN?

18. The correct order is 6-8-7-2-1-3-5-4.

ZnwZ [ o)
19. 1) ¥3F 6) T4
29 5
2) - F3EF 7)
AL
3)%1“/74’\/ 8) k\’)or(ul[—}\:]:
I L &I
4) % # 9) # R
Iy L& [ I
5) ¥ 10) &% (%

m.mgqu%$mei~xy%%hi?

ITAE

C)’-l":liiﬂlii ’Eﬁix_b#’tiﬁ‘&fl,t
s L
d)ﬁ_z"BPA 2{(1\“7&(4\
[0l BL?_
O BLEEDEI X LFFDRI ITEFTE LEn?
i e v

HDHDRITLTEXL KL D5 -

21 @)2. 27 —F & AR T fmf;

buwwlwdy Lo

b) 1. E‘Eﬁi:®$%qi&iﬂwEUi%A
D3 HDFEZFLAMNT LI VEVWEESTWS.
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22.

23.

24.

Appendix 1 Answer Key

»rh
b) BERE | R DFNITZ ) | Lets go to his place tomorrow!

AOZDHAFZIEEFNWTTH, FI13 B X2 & A This camera is expensive, isn't
it? I can’t buy it.

n
2 LwF 22 X 22085 T 7= It looked like the teacher wanted to
wr1te new a book.

B
e) BF R 15—:’0)51‘{:@ ZNITRY TEA, or&%&<f{iaji
FA ,or 22l )‘iﬂ‘/u Tomorrow (I/we/you...) must wake up at 5

am.
NAELD

fyflx =T % P L 7= { 2 T Idon't want to study Japanese.

DL & *7)&
g fﬁﬁ; I hv by BEDPERLNTHEATL 7= She could not eat tomato and
tish.

h) # L1322 @7/7‘7%%‘[‘{,’)ﬁl f;Iintendtoreadthismanga
DO HEHFATIIWITEFEA L Oréﬁt/{/fliﬁu THA L

You must not read that manga'
13 <

DEBIZOTLEL IR J\L { & 5 /=% | 1didn’t want this present!
k) 7 B E— )L Z /2 SAKRAL L L & ) Letsdrinkalot of beer today.

=an
)= ‘1"71 X777 A 32BN T 0o BYEILNATELN

Professor Tanaka can’t dance flamenco.
m)vY)ab»Ai, 22 ‘CT:]‘") TIELWTT Marlko,Iwantyoutowalthere

nFAHELAN, 2 W’)T%NLVCT# Orﬁofﬁﬁ‘ik\iﬁ%/
nNyorB oS> TH LA LD'C?‘?)\ Excuse me, may [ sit here?

b L THI 3 g BN THEELR W
OLTHE h) B LT ¢S
DIT->TL( 3% DiE-STHh 5

e) LTLEo7 DITF->THVLW
leg->Txkh3

NN Eiel

< L
D) FDRESIE E L (T, FAET. PXLLTT,
O ) AXAREHENTE D 5T E T,
OFIE 1 0BT TR BN E A TLE,
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NATW

e) CODBRET U HE LATIEDEL
DHEDOL AP T oANITHIRLLTENNNTT

N

25. a)2.2 2 gl ¥ (T
b)3.s5TLE-T- h)3. 4 3%

BAUR
Ll D3 LCBIRLTT
D9LITIrTETPLL5TWN Dza%bhaw
DEN & 2F-Scy k1L gAXDL v 5 /=
) 3. 17 X 7= DL%%%

27. % z5 2 HoOn
fal . A ¥ 5 B3
B¢ =/ L 5: YRR
¥ HoD SR XHrn
2 <: < #B5: Y65
2. Zrk 15 x5

28 Q)3 FE 6)2 5 [OLHF| )4 57 [l 3801 B

29. 2.0 L /L. LYoy /4RNAX 1
b)4. 5 T/2.8< 1Y =
ol7zZnwlZ /31320 .

30 FHF: LASAI P S 6D/ 4 5E/F5E: Lo LA
w¥®M:%i®#b/%7i:TA%A#<
OPZ DNV /b :BbY [ FR TV RA:TASX
DEE:FLD/AF  aFX /BT LT /BOEIT L nET

)@ L RAICAIFREL L2/ BEAT ALY/
BT B -5T

3. %5 2 sky T C 3B : 46 B tostart
NA XL §f&study Lx¥LA: T E photograph

TAL: % & angel Lx<U: gE food
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